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Jor the questions

1. Answer the following as directed : 1x10=10
FafeRees ForrgSt Seg fin

(a) Truth or falsity is a property of
term/proposition/argument.
( Choose the correct answer )
FeTS! 3 SPTSFe! (2R 1/ 6 /3] o |

(&% Techr AR Bferear )

(b) An argument has one premise/two
premises/no fixed number of premises.

( Choose the correct answer )
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(c)

(d)

(e

()
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(2)

'ﬁ{%mwww@rwm

Qi /ST T P R e A
(&% e fk et )

yalidity of an argument is concerned with
tﬁe form of an argument/content of an
mgument/both form and content of the

ar T

ng@wm@/{mm
Foe/EN IRR WF Ree Toww e

T |
(== TeIh! IR e )

State one point of difference between
deductive and inductive inference.

fore OF S SN WEE 9B ey
TEI A

Give an example of particular negativ
proposition. '
Bt Re Fepeles T3 et gt |
The figure of a syllogism is determined by
the position of the term.

. ( Fill in the blank )
A ”

( A 51 o 31 )

( Continued )

(3)

(e) BAROCO is a valid syllogism/immediate
inference/distributed term.
( Choose the correct answer )

BAROCO 51 @y ~yr/emis Sl /T
o |

( o= Taar IR Bfieat )

(h) State any one general rule of a categorical
syllogism.

BT ﬁa;w TR R e @B R fEw
Tt

(i) 'What do the ideograms stand for? |
TR o R e w2

() Under what condition, an equivalent
function becomes true? '

1 v b T Fort ey w0
2. Answer briefly : 2x5=10
3 Teq foar
(a) Define argument with example.
TR & e foan o
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(4)

(b) Reduce the following sentences into
proper logical propositions and mark them
asA,E, [LO: -

o JFTIZH! METTS IoLal FeT I o1
A, E, 1, O forica fofds 31
(i) Al students are not equally
intelligent.
e R ST R 7 |
(ii) Virtuous alone are happy.

&3 YR SRz |

(c) State any two rules of conversion.

TS R et o1 fry Seey

(d) Write two utilities of the uses of symbols.

2O I Yo Towgfarer fora |

(e) Define logical constants with examples.

THRIPTR O SRFIRIN e faa

3. Answer tht? following questions (any four) : 5%4=20
fAafefRe 2ERT Tes fan (R coen wilket) -

(a) Explain the relation between the validity
or invalidity of an argument and truth or
falsehood of its premises and conclusion.
e (O A IR NS ARRRS AF
Frares STere! 31 SeTeTeR o I 7 |
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(b)

(c)

(d)

(e)
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(5)

Write a short note on square of opposition
of proposition.

‘mmﬁﬁtmwaaﬁbﬁasrwz¢«ﬁhsqdﬁ@IﬁFn|

Distinguish between figure and mood of
syllogism. '

TR TRE S 63 e oirefe Mol w041 1

What is simple Proposition according to
modern classification of Proposition?
Define each of the different forms of simple

Proposition with example. 1+4=5
T S iR SR e 5
EA? SIRIIA ics Rew awmw e
TP SO ] |
Sym_bolize the following Propositions:  |x5.5
EﬁﬁﬁﬁT@FM§§ﬁ§ﬁW$$ﬁﬂ@’ﬁﬂ@f
(i) 1t is not that Hari is honest.
XD 9 T @ e
(ii) Either Rakesh is intelligent o he is
honest,
WP I w9 (o6 e |

(iii) If you read attentively, thep you will
succeed in the €Xaminatiop,

R A 51 o Ao
A R
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Answer the following questions :
4. ns

(6)

The weather is not good but Rita
(IV) goes fOl' a walk.
qod o = 8 ToR Rt @ |
) It is \false that the field is muddy and
(v.

wet.
S35 AR (X AN (Y o v |

What is categorical proposition? What are

different  types  of categoriczlll s
the osition? Explain. +4=
- o I Qe ? s v Rics
E::::;zﬁ$ﬁ$,anﬁnaﬁwn

10x4=40

WWWW:

Define syllogism with example. Explain its
(a)

24A/753

- 2+8=10
characteristics.

PR RN R fun e e
101 41 |

Or/ &
What is immediate inference? Explain
.obversion with rules as a kind of immediate
inference. 2+4+4=10

S SR I QI 2 S SRR 4
Roreat TR Afeéa <11

( Continued )

(c)

(d)
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(7)
What is symbolic logic? Discuss the
characteristics of symbolic logic. 4+6=10
W SR T @ AOee
SRR CafiEPiE e w1

Or/7i%s1
Discuss the relation between symbolic logic
and classica] logic. - 10
AT SRS e I SRy

types of compound
Propositions with €xample,

Or/=igy

What is truth-function? What are the basic
truth-functions? Explain each of them. “

2+2+6=10
O] T I QA e TR R
R 2 oifSchr srorremm 2 2wy

Construct truth table for any five of the
following Propositional  formg and
determine  whether it is tautology,
contradictory or contingent ; 2x5=10



(8)

FARRE FFRE [ R @
ﬁﬁj@;mﬁﬂmwm

ForTT, TR @ SRR TRRE, fd
-
(i) p2(pVva)
(i) (p-9)2P
(iii) (p-9)-(PV4q)
(iv) (pvq)~(“'P""¢1)
v) ~[pD(pVvq)]
(vi) p-t~pVvq)
Or/#133r

What is indirect or shorter-truth table
method? Discuss the method of
validity or invalidity of argum
shorter-truth table method.

proving
ent by
10
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